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QUESTION 1

To prevent injury during rack loading which of the following should be implemented? 

A. Non-powered tools 

B. Proper lifting techniques 

C. Antistatic device deployment 

D. Proper device cabling 

Correct Answer: B 

 

QUESTION 2

Which of the following is the BEST way to increase performance of a storage array? 

A. Use larger capacity drives 

B. Increase number of spindles 

C. Use SATA drives 

D. Decrease number of attached hosts 

Correct Answer: B 

 

QUESTION 3

Which of the following is a valid reason to use dual single-port HBAs instead of a single dual-port HBA? 

A. To survive a cable fault with multipathing drivers installed 

B. To survive a storage array failure 

C. To run different versions of drivers on each HBA 

D. To survive a complete HBA failure 

Correct Answer: D 

 

QUESTION 4

Given that a particular de-duplication solution stores 1TB of data using only 140G of space, which of the following is the
resulting de-duplication ratio? 

A. 7:1 
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B. 10:1 

C. 70:1 

D. 100:1 

Correct Answer: A 

 

QUESTION 5

In an HSM solution, files are archived to high capacity, high latency disk. To minimize overhead and assure the fastest
recall time possible, which of the following should be considered when setting migration policy? (Select TWO). 

A. Larger files should have a higher priority for migration than smaller ones 

B. Files with the oldest creation date should be migrated first 

C. Files with the oldest last reference date should have higher priority for migration 

D. If data criteria are identical, smaller files should be migrated first 

E. The least referenced files should have higher priority for migration 

Correct Answer: AC 
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